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// Solution Programming Project 7.1.

// Share the while loop code. Use the if statement to
// sent the appropriate string to print

#include <unistd.h>

finclude <stdio.h>

$include <iostream>

#include <string>

#include <cstdlib>

using namespace std;

int main{) {
string parentChildString;
int loopCount = 5; // each process will get its own loopCount
cout << "I am still only one process.” << endl;

pid t returnedvValue = fork{);
if(returnedValue < 0){
// still only one process
perror ("error forking"); // report the error
return -1;
} else if (returnedValue == 0){
// this must be the child process
parentChildString = "I am the child process.";
} eise { :
// this must be the parent process
int pid = static cast<int> (returnedvValue);
char strfil2];
sprintf(str, "%d", pid); // str now contains pid #
string pidString( str );
parentChildString = "I am the parent process; my child's ID is ”
+  pidString + ".";

}

while {loopCount > 0) {
cout << parentChildString << endl;
loopCount--; // decrement parent's counter only
sleep(l};

}

return 0;




//Solution to Programming Project 7.2
// Move shared "return 0;" statement to child and parent code

#include <unistd.h>
#include <stdio.h>

#include <iostream>
using namespace std;

int main() { _ .
int loopCount = 5; // each process will get its own loopCount
cout << "I am still only one process.” << endl;
pid t returnedvValue = fork();
if(returnedvalue < 0){
// still only one process
perror ("error forking"):; // report the error
return -1;
} else if (returnedValue == 0} {
// this must be the child process
while {loopCount > 0} {
cout << "I am the child process." << endl;
loopCount~~; // decrement child's counter only
sleep(l); // wait a second before repeating
}
return 0;
} else {
// this must be the parent process
while (loopCount > 0) {
cout << "I am the parent process; my child's ID is "

<< returnedvValue << ".," << endl;
loopCount--; // decrement parent's counter only
sleep(l};

}

return. 0;



